Residual distribution of opt at different
Pt with fast simulation
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Global layout of tracking system
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residual distribution of oPt

‘ A(P)/IP@ P =2GeV, 6=10°

‘ AP )P, @ P =5GeV, 6=10°
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events ratio within 3o

events (between +30) / events (total)
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z of ITKE4: 1500mm=>1800mm
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events ratio within 3o for 4 endcaps

z of ITKE4: 1500mm->1800mm

events (between +£30) / events (total)
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z of ITKE3. ITKE4:
1001mm. 1500mm=2>1301mm. 1800mm

‘ AP )P, @ P=2GeV, 6=10°

‘ A(P)IP, @ P =5GeV, 6=10°
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events ratio within 3o for 4 endcaps

z of ITKE3. ITKE4:
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Global layout of tracking system
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residual distribution of oPt for 5 endcaps

add endcap at z = 2200mm
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events ratio within 3o for 5 endcaps

add endcap at z = 2200mm

events (between +£30) / events (total)
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residual distribution of oPt for barrel

A(P)IP_@ P =2GeV, 6=85°

A(P)IP @ P=5GeV, 6=85°
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events ratio within 3o for barrel

events (between £30) / events (total)
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A(P)/P @ P=100GeV, 6=10°
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